T

1/N,, dN, /d mean p_[GeV]"

Ratio to ATLAS

N
ol

N

=
ol

0.5

0.5

13000 GeV pp
T T T T T

I T I T I T I T | T I
<pT> (ATLAS UE in Z production)

| B ATLAS

— --0-- Pythia 6.428 345

- £t Pythia 6.428 346
—A— Pythia 6.428 370

| Pythia 6.428 default
— —&— Pythia 8.183 default

Rivet 3.1.10, = 300k events

©’
™
L i S
u Y/ N\ 1o
l u D\ o
14 ‘A Y (Y)
/,.'. ©, ‘_|
— /] R =
L of ™ X
[/ o —_
u o) s
l AN
B p N\ 415
| - \ )
- y —1c
&/ (A B
A S
— ”‘ "\ ] o
/\ ‘v\ %)
B . Y, | ] "6
B Y ey g
S N — =
= A ! ! =
— O\ 92
I .~ " \ .
- A\ —
T AR .
L [ AN ]
— [\::S . —]
— I’ ‘\}z‘\\ - " r —_
O - , ,'. \ —
i
1 1 | 1 1 1 1 L | 1 1 1 1

Mean pT/dr] do



	Contents
	Page 1


